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4) P § sl Tve §, v ¥ g v o @ ol

i ' e part
For questions having more than one part, the answers to those parts are {,
be written together in continuity.

5) WR S R sl warmo i R wen f R/ o / e 9w R
& U9 & w@ w|

If there is any error / difference / contradiction in the Hinfii & English
versions of the question paper, the question of the Hindi version should be
treated valid.
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Qg - A
SECTION - A

1) EiEfa"ﬂrf";ﬁ‘:'-l&"-r:(iﬁxv)

Multiple Choice Questions (ito xv)

) PR AR e i Rt (Privom) @ e T 82
) RN N GHR w =™ #) WRHER B @ A
W) WERER % =l W s g) UERER F AW W =

]

Which one of the following items is not related to

profit and Loss Appropriation
Alc?

A) Interest on Partners Capital B) Salary Payable to a Partner
C) Interest on Partners Loan (Debt) D) Interest on Partners Drawin gs

ii) ﬁfﬁmaﬂwgmqa:mﬁﬁsm:3f8ﬁm-zrﬁa1‘z?ﬂ§§m§ﬂan%,31/8f§uﬁ=%qaig
F waw At 3, Rl g A Q@ et v 3 wm e ) s @ - (1]
A 5:3 q) 1:1
|) 3:5 q) 3:1
Sangeeta and Suman are partners in a firm sharing Profit and Losses in the

ratio of 5/8 : 3/8. They admit Anshu for 1/8 share in profits, which he receives
from both of them in equal proportion. The sacrifice ratio will be :-

A) 5:3 B) 1:1
C) 3:5 D) 3:1

iii)  smem, gften st wif s wd A 2/8, 1/2 3R 3/8 § T ated g wghan 1w e
A srgaTy TEw el 2, ATETH (W} W I T @ ? (1]
®) 21 |a) 1:2
a 1:3 Y 2:3

Asha. Sumitra and Sonia are partners in a firm sharing profit in
?

) ' * the ratio of
2/8. 1/2 and 3/8. Sonia retires from the firm. What will be the G

aining ratjg?

B 1:2
Ay 2:1
D)y 2:3
C) 1:3
ISUZ4|
SS-30-Accountancy
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) fter (FTER) F IR B T B A g -

1)
) WEER R TG W q)  HERR F T@ W
W) WEER R HOE 3) ()3 (W) W
The Gaining ratio is calculated:-
A)  On Death of a partner B) On Admission of a partner

C) On Retirement of a partner D) Both (A) and (C)
V) o % W (Rae) maﬁw—mmwﬁ@mm% T

(1]
H) gt @ q) &% wm
|)  IHeaEA T q) WA F g Em
Which account is not opened on dissolution of the firm?
A) Realisation Account B) Bank Account

C) Revaluation Account D) Partners Capital Account
V) TUEE (W-er) mﬁaﬁﬂ%a%mnﬁﬁm@m% -

F) FA-afem q) A afEm

|)  q afuem ) wE-fEm

Pro-rata allotment applies in the case of:-

A)  Over-subscription B) Minimum-subscription
C) Under-subscription D) Equal-subscription

Vi) Eifra fafire 3w fafie @ v wofiad ¥1,98,000 % @l sus qui spram 3 7100
mmmlommﬂmﬁ:ﬁam,ﬁsﬁﬁﬁmm:- [1]

A) 1980w q) 2200 3w
®) 2000 3w g) 1800a3wm

Sanjeev Limited purchased a machinery from Bhanu Limited for Z1.98.000.

Its full payment is done by issuing equity share of 100 each, issued at a
premium of 10%. The number of shares will be :-

1]

A) 1980 shares B) 2200 shares
C) 2000 shares i)) 1800 shares
vill) TR & aret wgen ez @ o 1]
H) T AW ) yaifaewr s
B)  wgw (dudw)

3) () 7 (=)
The word used in place of Debenture is:-

A)  Equity share B) Preference share
C) Bondgs

D) Both (A)and (B)

https://www.rajasthanboard.com
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iX) WA-YeQ 9 A WO &
' it o 8 m"‘m‘ﬁ“)‘*mma,mwmmﬁm[ﬁ
) ol & P @ age mm i
W) wows ¥ frtos woaf T |
®W) W Ead o
7) Ry dhiftam e o §

Debentures issued at par are redeemable at premium, the amount of premium
pavable is transferred:-

A) In discount on issue of debentures A/c
B) In Loss on issue of debentures A/c
C) In General Reserve A/c

D) In securities premium Reserve A/c

x) g fafee 3 i fofes 2 %1,80,000 # w wohiv wlid, fovads qui gmam &
T2 2100 AR 9% FOTR 10% a2 W At e ot & friea w g @ 7 et

ot T () HrmAde [1]
F) 19,000 /) 20,000
|) 328,000 3) 322,000

Suratgarh Limited purchased a machinery from Bhilwara Limited for ¥1.80.000
and in lieu of full payment, issued ¥100; 9% debentures at 10% discount.
How much amount will be debited to the discount account on the issue Of

debentures?
A) Z19,000 B) 20,000
C) 28,000 D) 22,000
xi) &arfua,ﬁaﬂﬂmmz%ﬂﬂmﬁum%mm!.ﬂﬂﬁi:— o
@) e weatedl u) wfm-w ke
a) w-uq q) w I

h are settled within 12 months, are called:-

Those liabilities whic
A) Curren! Assels B) Deterred Lax Liability

C) Non-current Liabilities 1))  Current | iabilities

5024]
L' l Tl.lrll Ovel"
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i) T Y OT-THAT HUT Gaa W A @ - "
)

) 1l a) 2:1

® 050 3) 1:2

An ideal debt-Equity ratio is considered safe :-

A) 1:1 B) 2:1

C) 05:1 D) 1:2

xiii) Fr=fofem 4 & SlF-w1 = dwg-var e @t frarwem 7@ 27 (1)

) N TER @) R

W) R 3) e

Which one of the following is not a cash-flow statement Activity?

A) Funds-flow B) Operating

C) Financing D) Investing

xiv) uas fafiee & fom gaamd 2 :- (1]

e 1.4.2023  31.3.2024

FouM & fore uraum 710,000 Z15,000

a@aﬁ%zﬂmw%ﬁm 12,000 = wrag faan @

afrares frareea @ afgale 6 afd gt .-

) 210,000 - |) 15,000

q) 7,000 g) 17,000

Following informations is of Pawan Limited :-
Items 1.4.2023 31.3.2024

Provision for Taxations 10,000 ¥15,000 ‘

Durirg the year provision for Taxation ifq' made of 12,000. The amount of

cash out flow from operating Activities will be:-

A) 210,000 B) 15,000

C) 27,000 D) 17,000

XV) Frr i @ S T T - e R i | (1]
W) e =M 7) faqom ara gfaa
Which one of the following item 1 non-cash item?
A) Cash in hand ) Bank deposit
C) Depreciation D) Marketable securities
SS-30-Accountancy @
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et Tt 6 gfdf Dfre : (i A vii)

Fill in the blanks : (i to vii)

i) wRm e Aen Wl W g v s i e & Frafm R
ST 1 (R /g)

Accumulated Profits and Reserve are distribyted among old partners capital
account in___ _ratio. (sacrifice/o}d)

i) R wRer fm agem § darfigw aREr & am w aftmrn w0 =
FAA wgeran ) (HfRrems(wrEs) /) (1]

The ratio in which the continuing partners will acquire the share from the
retiring partner is called Ratio. (Gaiaing/New)

i) et St R R IER G L A arftres T8 @ "R R (5 T/ 50 @) (1]

One person company's paid up Capital can not be more than ¥
(5 Lakh/50 Lakh)

V) O WA e T v @ w2 W Fiwe R aad R (AR (w2)) (1)
A company can issue ______equity shares at discount. (General{Sy/ﬁt)

V) reereeeveees HUE, A HWOTA 3, W grEh (Refad) F g geiata e e 2
(e /TIEA) (1]

debentures, are the debentures which can be transferred by way of
delivery? (Bearer/Registered)

vi) W@ ez R 3u-yh (1]
whgfa ffmETa e Twg q anfied
(a1, i/ S i)
Item Major-Head Sub-Head
Securities premium
Reserve e Res. and surplus
(Current Liabilities/ Shau;;hﬁldcfi;r's fund)
vii) wrda wwan afufam, 2013 & AR TEA-TX T A 3
(w-v”wﬁsﬁ—-lll) (1]

According to Indian Companies Act, 2013, Balance-Sheet is orepare as
(Schedule-Vl/Schth 21

per

S
SS—-30-Accountancy @
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SHTTETYRHS WA : (i | x)

Very short answer type questions : (i to X)

i)  wRer % wea Rvfm wwsitn, wgenen 22 1
A written agreements between partners, is called?

D) TR o e T e 3 - 2 3 e e g e 31 A a e 3 fe & e s
t IvimdeiR2:2; | & gzt o Fiota 9 2, e & aum FA Bl ()

n a firm sharing profit in the ratio of 3 : 2,

Bhavesh and Raju are partners i
divide the future

They admit to Sonu for share in profits. They decided to
profitsin2:2:1 ratio. Calculate the sacrifice ratio.

qaa,aréaﬁtﬁzzzs;4ﬁmaﬁﬁ§w@m%ﬁ3wﬁﬁmmmél

Pt
qgﬁfuimmaﬁm,oooﬁlazmqﬁaimﬁaﬁﬁﬁwmﬁﬁm (1]

the ratio of 2 : 3 : 4. Z retires from the

X,Y and Z are partners sharing profit in
Calculate the Z's share in loss on

- firm. Loss on revaluation is ¥81,000.
revaluation.

iv) Mﬁﬂﬁmﬁ,wﬁﬁmﬁmﬁw#ﬁm wquma # Rt fea
1]

AT 8?

In case of death of a partner, the General Reserve existing in books is distributed.

in which ratio?
v) i fafe 3 210 @@ 10,000 T sigt 21 WA 3wt Shitam W e oA s
24 9 mﬁaﬁmﬂgﬁﬂﬁtfiﬁ,éo{l mglmmﬁﬁﬁmm?[ll

Preeti limited had invited application for 10,000 equity share of T10¢ eachat?
premium of 1 each. Total application money received at 74 per share Of
%45,600. State the numbers of application that are received.

$8-30-Accountancy
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vi) af? 12,000 aivi
- O?ﬁ%anﬁﬁm@m(ﬁ—m)mm&ooomdﬁaﬁmwﬁ
srorar® 3 1,500 3ivn 3 forg andga e, 3@ feet siw snaifew fra iR ;II

If applicants for 12,000 shares were allotted 8,000 shares on pro-rata bas:
- asis,

how many share were allotted to a shareholder who had applied for 1,500 shares?

Vi) avafty/sites 3 g | RO & SRR T [1]

State the types of debentures on the basis of period/redemption?

viii) | Rrgd 1 7] - q-vs (1]

FHUTAA

[tem in Balance-Sheet Major-Head Sub-Head

—

Debentures

L
) mﬁ%mﬁﬁﬁgﬁqﬁimﬁﬁﬁmaﬁtf@ﬁﬁ,u&gﬁ&ﬂwﬁtzﬁﬂw—m
(1]

In the case of issue of debentures as collateral securities, If entry is passed.

which account will be credited?

ﬁﬁu—ﬁmﬁ%ﬁ:ﬁﬁmﬁrmﬁ%mm? [1]

X)
y two users ot'Financial-Statements?

Write the name of an

[ Turn Over
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https://www.rajast{uanboard.com



10
Qus - d
SECTION - B

AYATHE U : (V1] i 50 vI=)
Short answer type questions : (Word Limits 50)

% T 0% wH § WEER 2, v} v g % aiftm 3 25,000 F A FEA A =0 |,
e 3 R/ age fva e 2, amg @ = § afd B o Sl 2]

Ranu is a partner in a firm. She withdrew ¥5,000 on the last day of every month,

The interest is charged @ 12% per annum. Calculate the interest on drawings.

;}' o v o faffaifea geft ¥4,00,000 2, 9 6 aa 10% 21 % & 3itaa ee 350,000
(35,000 ST @it @ T8 geran ) B sfems & &7 R % S T & o m
i 2]
Invested capital is ¥4,00,000 in a firm. Normal rate of profit is 10% Average profit
of the firm are ¥50,000 (Abnormal loss of ¥5,000 is not deducted). Calculate the

value of goodwill at three times of the super profit.

A e s s e 235,000 3R 225,000 R G5ft % wrer AziaR §, R o & ot 4
1/3 frc@ & vy 7 @ 72 WEER % &9 § waw fRa m e R 6 gt 35,000 w2,
w H wfa & afdr 7 vy 2]

Kailash and Prakash are partners with capital of ¥35,000 and 225,000 respectively-
They admitted Ram as a new partner with 1/3" share in firm's profit. Ram brings
¥35,000 as his share of capital. Calculate the value of firm's goodwill.

J/W(M}tmmq\ami,sﬂaﬁmaﬁﬁmi? 2l

What is the formula of Gaining ratio, when is it calculated?

g 24

https://www.rajasthanboard.com
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14) o & T () ¥ v, v - sfaferRe (geet @ 7 3) TR 210,000 1 I

1
WAgEe, Rrfla s guig e wd | 2 : 3 4ﬁmmmmmwﬁﬁm
1o e 2, vt fafl w) gem - (arfis-Riaan) 227,000 = amr s w2 -
¥ HAHII WLV W AEyaF et ufate @) (21
Balmukund, Vineet and Sudhansu are partners in a firm, Sharing profits in the ratio
of 2 : 3 : 4. Sudhansu retires from the firm. On this date, Balance-Sheet is showing
General Reserve of ¥27,000. Pass necessary Journal Entry on retirement of Sudhansu.

ﬁa,:iq\aﬂuhﬁqa:mﬁﬂ .3 - 2 o T Aizd T AR 2, v v A s mm e R,
o TR 1 TR ?56,000mﬁmwmﬂéﬁrg§|ﬁﬁﬁmwﬁm@ﬁm
wfafe el (2]

Shiv, Nandu and Mohan are partner
Shiv retires from the firm and the goodwill is va
entry in the books of firm without opening the goodwill Account.

s in a firm sharing profits in the ratio of 3 : 3 - 2.
lued at £56,000. Give adjustment

qmmg}ianamﬁmwtmaﬁanﬁﬁaﬁﬁﬁml [2]
At the time of dissolution of the firm, unrecorded liability of ¥10,000 is paid by a
partner. Record the necessary Journal Entry.

11) “sfy-afiER” 3R “FR-ateR” | giwfva S| [2]

Define "Over-Subscription" and "under-subscription".

) oF FEE A | e, 2023 F 2100 A 5,000; 8% Sora=, 10 sfww w22 W frifim fg)
wfavfa difram wem wm @@ fw 245,000 21 worasi & rfew av =22 € o srfafeg
, afd
# sravas fafe dfs) < T;?

On 1* April, 2023 a company issued 5,000; 8% debentures of a 2100 "
cacn at g

Is ¥45,000. Give
s of debentu,-es'

discount of 10%. The balance of scecuritiey premium Reserve
necessary entry for writting-off the amount of discoynt onij
Ssue

$S-30—-Accountancy
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_13) e iz 3 e e @ ?2,00,00015taauarizt:aﬂ'q'nWr‘:lﬁ’lth—vlai%’ramqﬁ
aﬁﬁ%ﬁmﬂ!10,000mémarﬁﬁmnmmmﬁmnﬁléi%uloomm
A 9% FUMR 5% w2 W A Ry o) il Ry g ors! it weEn T Rl 2

Madhusudan Limited purchased a plant from Gopal Limited for ¥2,00,000 ang
agreed to make the payment of purchase consideration by issuing cheque of 3| 0,007 -¢

and for remaining due payment by issuing 9% debentures of ¥100 each at a discoyy,
of 5%. Calculate the number of debenture that were issued.

14) ‘= wRewfat” wen ‘e A @ e wm SR, 2R - 2]
why () 260,000
e et 22,40,000
AT AT =2:1

Calculate the value of "Current Assets" and "Current Liabilites", If :-
Stock (Inventory) 360,000
Liquid Assets ¥2,40,000
Quick Ratio =2:1

15) g ferftee A ufvwsafral ® 726,000 1 Jea-gW i (St) w9 % gy 274,000
= = it e 2] -
3 g
e e faean 220,000
frarer frmet gr dwg-warg @ o S

Yuvraj Limited made a net profit ¥74,000 after charging the depreciation of 226,000
on Assets '

Other informations :
Income Tax paid ¥20,000.
Calculate the cash now\qm operating activities.

SS—SB—Au:ouutancy
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@UE - A
SECTION - C

& 3fa wea (v Him 100 ws])

Long answer type questions : (Word Limit -100)

167 T 3R R A aiEn 2, 3Th fﬁn g s 73,00,000 3R 24,00,000 o 22 Th
T T AN-F HTTA T AEEH dera 1 2, 3 ad Fgg ®w 355,000 2, A A -af
fafam (Fatss) s sl 131
Nanda and Bhanwar are partners in a firm. Their fixed capitals were 23,00,000 and

24.00.000 respectively. If the partnership deed is silent as to the payment of interest
on capital and profit and losses sharing ratio's, and net profit for the year is ¥55.000.

prepare Profit and Loss Appropriation Account.

Fgar/OR
Fae 3i e o o 2 ¢ 3 3 o e g TSR 2, 3R fer et shew: 22,40,000 3
£2,60,000 #fti 31 =, 2024 ) GFH a2 A T ¥R 9w R I O W 10% =T =
# =T F e T e wiate s i 3]

Vinod and Komal are partners in a firm, sharing profits in the ratio of 2 : 3. Ther
fixed capitals were %2,40,000 and ¥2,60,000 respectively. On 31* March. 2024,
after closing the books it was found that Interest on Capital @ 10% per annum
was omitted.Record the Adjustment Entry. hitps://www.rajasthanboard.com

uru;ﬁ#ﬁuamaiauﬁ%ﬂm,uﬁ- 3]
) v n-afufafen ?S,OOOanzrstrrrsz!,qam@anm‘twgm%ml
i) mtzs,ooﬁaav),azaﬁmwwﬁ?zs,{mu%@w%mﬁaﬂwml

jii) agel = 725,000

Passjournal Entries on the dissolution of a firm, if

1) Unrecorded Typewriter of 5,000 is taken by a partner Ganesh.

i) Creditors were £25,000, they Accepted Debtors valued at 225,000 in tull

settlement of their claim.
pense amounted to €25,000.

1) Realisation €X
AYW/OR

E@ [ Turn Over
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T () = = (F) F W e S B
Tt () - feufa g (F) - ® & faoes H dfar

) wvft wer R wgah W a) arfar aHE

) I wH F aaE R-w b) T gw e
(37dw) & v

i) E HIE WYER WARE g @ 3l | ¢) o g Rae

Match the List (A) with List (B) :

List (A) - Conditions List (B) - Methods of
Dissolution of a firm
1)  With the consent of the all a) Compulsory Dissolution
partners
1))  When the business of the b) Dissolution by Court
firm becomes illegal.
i) When a partner becomes insance [c) Dissolution by Agreement

18) frafafiaa gamed @ “fera” a “wwa o’ i J@ K - [3]
TRy TEd 3 =6 T
3iraa =hY =Z80,000

firra e, T e | 25% 3 R

Calculate the amount of "Sales and " Gross profit" from the following informations:-

Stock Turnover Ratio = 6times
Average Stock = ¥80,000
Selling Price is 25% excess on cost.
Fua/OR
e (31) = g (@) % e frem i 3]
o () - FTETEA I T (3) -/
) < e a) TR W
i) =T sAERon HI b)  vitergE s (2
u) vfrarER sEaE c) AN HJUT ()
Match the List (A) with List (B) :
List(A) - Accounting Ratio List (B) - Category
1) Current Ratio a) Profitability Ratio
u)  Interest Coverage Ratio b) Solvency Ratio
% ¢) Liquidity Ratio
SS-30~Accountancy 5024
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19) ﬁnﬁt@amahé; INUR W fafm—

fFmatl” A srwrz—war Ht e Fifo 13]
. :
e 2023 2024
THAT 391 g 26,00,000 27,50,000
8% woaR ¥1,00,000 250,000

o] a4 & IR wHan v & Wt 9 W 20 wlive s = i ¥ aefcs 9m W s
w1 YA feran wan|

Calculate the cash flow from " Financing-Activities" from the following

informations:-

[tem 2023 2024
Equity Share Capital 6,00,000 $7,50,000
8% Debentures 31,00,000 350,000

During the year 20% dividend is paid on opening balance of Equity shares and
interest is paid on opening balance of debentures.

Fua/OR
Tt (1) g (F) F e e St - 3]
T () - AR T () - FHATEHAT TR
) TEE B A qA a) Tty
i) =T wen AW | Wi b) uftarew wfafafe
i) FeoTaHl W WA ¢) fafmmnfafafy
Match the List (A) with List (B):-
List (A) - Transactions List (B) - Types of Activity

i)  Sale of goods to customer a) Financing Activity

ii) Receipts from interest and | b) Operating Activity

dividend
i) Redemption of debentures | ¢)  Investing Activity
- _ tivit -
SS—30-Accountancy [-Suzﬂ
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Faurers wva ; (wsg € - 200 wsg)
Esssy tvpe gucstions : (Word Limit - 200)
e

-~

A

v gem-ua (anfiw-Tagen) i o

20) A ik s v ol A 3 ¢ 5§ enw-g aed ge AR &, 31 7, 2023 W e

[4

qifae 7 | afteafiai 2

[LECi 4,00,000 | &= 3,60,000

T GOl 3,00,000 | ¥Fer 4,60,000

gt T (-) gaa ot & fore

ifeet - 5,00,000 wagE 20,000

wmaw - 4,00,000 9,00,000 4,40,000

wAiE 8,00,000
B 16,00,000 16,0{),0£
a | awe, 2023 @ TER 2 P yrat & e o 3 1/3 fRFfRnwEnag :

1)
1) @& wfa @

T % O TR o)

SS—3‘¢—Accuuntan¢3’
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Avinash and Bhavesh are partners in a firm, sharing .
’ profits in th . ) )
Balance-Sheet as at 31% March, 2023 was as follows:- eratioof3 : §, their

Balance-Sheet

[ Liabilities T| Assets I 2
Creditors 4,00,000( Bank 3,60,000
General Reserve 3,00,000| Debtors 4,60,000

(-) provision

Capital A/c's:-
Avinash - 5,00,000 for bad debts 20,000
Bhavesh - 4.00.000 9,00,000 4.40,000
Plant 8,00,000
16,00,000 16,00,000

Other informations:-
On 1# April, 2023 they admitted "Rahul" as new partner for 1/3" share in profiton

the following terms:-
i)  Rahul will bring cash of 24,80,000 for his share of capital and goodwill Jointly.

i) Goodwill of the firm has been valued at 2 years purchase of the super profit

of ¥1,20,000.
Prepare "Partners Capital Account™?
Fua/OR
T GRER F AN R ;- [4]

“grofgt 3 i & e | Hetta wHe Sfafeat fivw -

) ofwwlsgEigigiRw

i) Rt gt § w IR W

iii) i rfefRe il & fore

iv) " afufefem ot & fom

v)' YT @ R A Ol et 3§ g & g

S;Eﬁ:;i E?TEZ ;e:)a:gl] :; :':Revaluatlon of Assets and Liabilities", at the time

1)  Forincrease in the value of an asset
u) For reduction in the value of liabilities.
fu) For unrecorded liabilities.

1iv) For unrecorded Assets

v [
) For transferring the loss on revaluation in partners Capital Account
count.

S§§-30-A
ccountancy @
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-

21 e fafdeg 3 710 a& 10,000 w9

18
it 3 forg1 0% SR TR ST € e o,

foran, wfvral 38 YR 93 ot [4)
G W 33

A W 26 (hfivam |fEA)

vy § Afaw 7 W 32

9.000 3wt & forg e u=r ww gu) frda R 400 st i R, wm A T Ty
sy = ) ek frfids ) geet A mﬁaﬁanﬁlﬁﬁ?ﬁm(mﬂﬁﬁaaﬂm

& forg) -

Rangoli Limited issued prospectus inviting applications for 10,000 Equity Share

of 210 at 10% premium, amounts payable are as follows:-

On Application 33
On Allotment 6 (Including premium)

On first and final call 72

Application were received for ¥9,000 Shares. Priyanka, who was allotted 400 shares

paid call money with allotment. Pass necessary Journal Entries in the books of

Rangoli Limited. (Only for Application and Allotment)
Fe|r/OR

fren frfirde 3 SO0 |@a 39 7100 s 37w ame = g e, R @ 200 fy sigr Arm @
o) 3 S T ?40ﬂﬁaiﬂmaaiﬁnﬂiﬂﬁ?m?},mi}$% 270 wfr 3iw qoi-5&d
ﬂ!gﬂ:ﬁﬁfﬁﬂﬂ?{ﬁalm?ﬁgﬁﬂﬁﬁ sTavas e ufatat S aa < im—g TE
TR (4]
Smita Limited forfeited 500 equity shares of €100 each on which ¥90 per share

was called-up. There was a arrear of 240 each of first and final call on these shares-

hese shares at ¥70 per share as fully paid-up. Give necessary

Company re-issued t
"Share forfeiture A/c".

Journal Entries in the books of company and prepare
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Record the necessary Journal Entries in the books of Rajveer Limited for the
ecor

following :-

p /

premium.

i % discount and redeemable
i) 150;8% Debenture 0f 21,000 each are issued at 10%

at 5% premium.

gar/OR

aagﬁ«ﬁiz,u‘ma%maimﬂ ?4,00,000maiwﬁ?ﬁ%,aﬁ1awmﬁﬁﬁwﬁqﬁ%mﬁ
2100 ufa Forem 6 R R 5,000; 9%, A i et 21 R B gE § e
fafeai =t $ifre Fen T A Jo-TH (mﬁmﬁ@)ﬁ%ﬁwﬁﬂ,uﬁmwcﬁﬁ
e e e 2l [4]

Annu Limited took a loan of %4,00,000 from Punjab National Bank, and issued
5.000: 9% debentures of 100 each as a collateral security. Record the entries n

the books of company and how will you show in Balance-Sheet, if it will be
recorded in the books.
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